[ number of missing inner layers |

1 Entries 3572
E Mean 0.1139
r N Std Dev 0.3212
_ . B B |
10 1§_ + " TEntries 3302
= : Mean 0.1151
o i [stdpev 0.321
-2 eietiiitei.iie...
10 ; Entnes 3295
F ' Mean 0.115
I N Std Dev 0.3209
10°F ST EXET TEI CITT
E H + | Entries 3250
o . . Mean 0.1148
_4 i . . |std Dev 0.3207
10 = : S S A i
= : : Entries 4147
L : . Mean 0.1042
105 P S +. L Std Dev 0.3086
10—6....I.... T |

0.6

mean hi

0 05 115 2 25 3 35 4 45 5

[ number of missing outer layers |

1 Entries 3572

: ¢ [Mean 2172

N . | Std Dev 2.712

107" P Entries . 3302

E * | Mean 2.045

C . . |Std Dev 2.658

2 e [ eeiiiiitiiiiiii..

10 E - \ [Entries 3295

F : ¢ | Mean 2.036

o : ! |Std Dev 2.658

T peofee e RIS 1

o : : Entries 3250

o . . Mean 2.01

[ : . | std Dev 2.638

1077 e b N A P 1

E Entries 4147

C . . Mean 2.335

10—5 Lt PR N 1. L Std Dev 2.755

o1()f.64:""|""|'"!""!""
S E
S 11
04 3
E:
0.9F
0.8%

o

20

I
[ee]

16
14
12
10

<hits> vs n

Ratio

Entries 212291
| Mean 2.096
Std Dev 6.163
: : I
B Entries 211684
2| .. TR Mean 2.095
E . . Std Dev 6.132
10 d
E : : : I
[ : : Entries 211845
Y R ] ean 2.094
10 °E : : LgtDev 6.13
E L |
C : : Entrids 211144
" . . Mean 2.095
107~ P R Std Dev 6.114
F . . : | I
B ' ' Entries 211192
5 B : : Mean 2.095
10 o FRRRREE R MR Std Dev 6.114
010% N . .
= L N N
£ bt
l1+%++“m%w%lllﬂ| A Mot
0.950— : : - 5
10 1 10 10 10

10

—— DQOMSEPS_ 11

g D MsteaB‘TT‘

— B Mg%g %‘TT‘ck P|>]eILess

" MSIeJS TThgeEau tNEWTOLDSAMPLE
C = = Entries 3572
o r | Mean 12.23
- s : | std Dev 5.126
C : |
r Entries 3302
C 2 12.72
o 10° 5.189
- B Entries 3295

| Mean

Std Dev

Entries
[Mean
Sid Dev

'-_ Entries

Mean

Std Dev

1=
e
g 12F
e T

1

4.+

10 15 20 25

30 35 40
track hits

107

1072

10

<] I
10 3

Entries 4526
Mean 3.009
Std Dev 6.908
""""""""""""""""" AR
Entries 4062
Mean 2.948
. Std Dev 6.644
--------- Breeeeeeeaeaer 2
Entries 4050
. ean 2.96
i ] Dev 6.654
: |
: Entrigs 3986
H Mear D95
_______ .____________:._______S[(\D;I’ /56
: : 1
Entries 5288
Mean 2.85
Std Dev 9.925




	Contents
	Page 1


